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A () FYH Y a8, 99 @ 1 gla & IR o
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) HIF F¥ F G4} 9T B FHEAR UF GTY 5T HHord |
Solve all parts of a question consecutively together.
(iii) FeA% o FI 79 78 8 IREY Filord |
Start each question on fresh page.
(iv) g1 9T § 37 817 # R 7 37 373are 8 A 8 |
Only English version is valid in case of difference in both the languages.

1. () feramdiadffitgeaessas®mEae ?
What is the significance of back emf in D.C. Motor ?
(i) Torement Sor Mo # feem (TTeRa) w1 uftafya i |
Define slip in 3-¢ induction motor.
(iii) TeaTad] g g3t H FH-HH A fRgR s A e I € ¢
Which detectors are used in A.C. Bridges ?
(iv) Tewsrl v 3 3w & gy faf |

Write the applications of rectifier type instrument.

(v) 395 uftonfis & 3w fafew |

Write the uses of instrument transformer. (2x5)

(10f4) P.T.O.
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few g vie den Joft wex & srfireeo qu |
Explain the characteristics of d.c. shunt and series motor.
fé am At & YRl & A |
Explain types of d.c. motor. (6+6)

U et afonfie & oy aiey gdhe ) aiey fo afa awes |
Explain short circuit test of 1-¢ transformer with circuit diagram.

qeghTetl A ) T q°T HREUIE! H T |

Explain the construction and working of synchronous motor. , (6+6)

e = g9 # T1EA 9ieds 31 B diedd, T1E UNT 3 % g § g
werifua Hifs |

Derive the relation between line voltage and phase voltage, line current and
phase current in 3-¢ star connection.

i T FuSteEl H R EIeE § IR F 400 V, 50 Hz % 8@ A s fear i |
ity # yafea aw 10A 6 96 4500 912 off | T Hueet H1 FRY Td Sehe
BICEIE I

Three similar coils were connected in star connection across a supply of 400 V
and 50 Hz. The current flowing and power drawn in the circuit was 10A and
4500 watt. Calculate the resistance and inductance of each coil. (6+6)

5. fr Sgatl % a=dfera s & fo afty fom afea siee wnftg Hifs -

Derive the expression for balance condition with circuit diagram of the following
bridges :

®

(i)

UgtEd Aq
Anderson Bridge

whdg
De Sauty’s Bridge (6+6)

6. T 3uEAl ) TEA aYT HEYUIE! S G HIRT -

Describe the construction and working of following instruments :

®

(i)

Tt ek 9 HUSE! TR I9TA
PMMC type instrument
SRAHHIRT FTeHI

Dynamometer type wattmeter (6+6)
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() TH Neaamict %1 fedy 5Q a1 f Thel fa8 9/ 1 mA 2, @ 398 200 V feg
T YE™ |19 % foTT 35eh Sufishn 3 o1 94 916t T[T ITekiY 3T HH F1d ShiTT |

The resistance of a galvanometer is 5Q and its full scale deflection current is
‘1 mA. Find the multiplier resistance which can be connected in series with it to
measure a D.C. supply of 200 V.

(ii) 'ﬁmﬁwwmﬁml

Explain the working principle of potentiometer. ‘ (6+6)

e 1 9 foredi 9w wifm feooft fofied

Write short notes on any two of the following :

(i) WEH UGHd & oy

Advantage of polyphase system
(i) IR NS YeITad] YRT 8 1 HTH ITGR
Generalized treatment of four arm A.C. bridge
(iii) Hohas 39 ¥ e Fergut

Controlling torque in indicating instrument (6+6)
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